MARHUIN (A)

FI0819N 1T AIM I
4
1. 115197 4.11
19U 519 | Puis(mg/ke)
i Mg 3475
2 Al 324.0
3 Ca 49.88
4 Fe 83.12
5 Mn 11.0
6 P <<
7 K 20.25

1 pfvvewihasmeluunindouey  34.75%10° niu

34.75%x107° x 100 o
I 0
=34.75%10"

1 100 nfudinuniiGouey

naumuai 2Mg(s) + 0,(g) » 2MgO(s)

2 Tuavea Mg = 2 Tuavos MgO

mMg X

MMg MMgO

347510 x
2431 4031

x = 0.0057%
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n3oi Al
1 nSuvesahazmellesgiiifionsy  324x10° s
%
1 100 nfuilozgiiiivney 324 l(; <100,
=324x10"
MINANM5IAL 4 Al(s) +30,(g) > 2A1L,0,(5)
4 Tuaved Al = 2 Tuaved ALLO;
2m, X
M., MAlzo,
324x10° _ x
26.98 95.99
x=0.245%
asal Ca

1 nfuvesdhazawiunaFovey  49.88%X10° nfy

1 100 nivliunaiFoneg l

= 49.88%10”
nnaumsel 2Ca(s) + O, (g) - 2CaO(s)

2 Tuaves Ca = 2 Tuaves Ca0

MCa

M

Ca

49.88x107 __x
40.10 56.10

x=0.007%

49.88x107° x 100
%
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nsal Fe

1 nfuvesdniazaolimaneg 83.12X10° n¥u
83.12x107° x100
%
1
= 83.12x10°

o -] r
1100 nSuiimanag

DINAUNIIAY 4Fe(s)+30,(g)— 2Fe,0,(s)

2 Tuavoa Fe = 2 Tuaved Fe,0;

X
M, M Fe,0,

83.12x10"  «x
5585  159.68

x = 0.048%

A3 Mn

1 nfnveadniermeliuunmiioey  11X10° nfy

I1x107° %100
-~

=11x10"

1 100 nfultunnniiieeg

Mnerumsind Mn(s) + 0, (g) - MnO, (s)

1 Tuavos Mn = 1 Tuavea MnO,

m,, _ X
MMn MMnO,
11x10*  x
5494  86.94

x=0.0017%



1 nfvssdahazaiol Tlounadong  2025%10° nfu

—6
&1 100 nudi TilsunenFonoy 20.25x 110 100,
=20.25%10"
VINTUNITIA 4K(s)+ 0,(g) - 2K, Ofs)

4 Tuave1 K = 2 Tuavea K,0

2025x107  x
39.1 94.2

x =0.0074%
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